Chapter 5 Review Problems
Math 132-06, Fall 2005

1. Consider the function f(z) = cos(z) on the interval [0,7]. Compute Ry, the right-hand
estimate for [y cos(z)dz using 4 rectangles. Is this an over- or under-estimate?
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2. Compute the following antiderivatives. Hint: you can always take the derivative of your
answer to check that you did the problem correctly.
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3. Compute the following definite integrals.

(a) / lz| + V4 — 2? dx - (7 T | Hint: break up the integral and use geometry.
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4. Compute the derivatives of the following functlons
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5. Below is a graph of f(x).
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What is [; f(z) dz ? What is [y |f(z)| dz ?
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6. Let R be the region enclosed between the graphs of ¥y = z and y = x®. What is its area?
Hint: make sure to find all the intersection points of the two curves, and graph the region.
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